= B H

XEREDOHE 2%z

| | 1.8kgD k453K 3HY 7,

KT DM TAkgHY T, OTUFEERZYE LS, )

=

2| ABIIC TA2.37kmD <25V >a—229HY T,

CHNIA—R%*¥3FAT S, FTHAkmIZ% Y 5 H,
*

3[WHITTIAIFIBIC3BALD MY Y2 - ERAEFT,

28BE T, 2B TALO b2 bV a2 —X28RAE L T 5,
%

w0

® E& % @@@:[503%@%2@



PR@DE 12 5 Bl A a
<l X ERMEOHE 241

| | 1.8kgD k553K 3HY 7,

KIS TAkgH ) . OTVFEETIELLI.)

® 1.8X5=9

2| ABIIC TA2.37kmD <25V >a—229HY T,

CHNIA—R%*¥3FAT S, FTHAkmIZ% Y 5 H,
® 2.37X3=7.11

%"71{ 7.1 1 km }

3[WHITTIAIFIBIC3BALD MY Y2 - ERAEFT,

28BE T, 2B TALO b2 bV a2 —X28RAE L T 5,
N 3.8X28=106.4

%"71{ 106.4 dL J

® EH & % @“@@‘ﬂi’%g@hﬁ



	スライド 9
	スライド 10

